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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best complefes
each sentence. Then mark the correct choice on your answer sheet.

3

What was intended as a peaceful demonstration rapidly -———-- into violence.

1) agitated 2) degenerated 3) preceded 4) discriminated
The Democratic Party ——--—--- 70 percent of the vote.

1) gammered 2) esteermned 3) obhigated 4) assembled
Some animals can -----—-—- very high temperatures.

1) detach 2) submit 3) obstruct 4) withstand

Researchers have discovered that up to one half of all children born of alcoholics are
genetically -—--—— to alcoholism.

1) discerned 2) apprehended 3) predisposed 4) mmpressed
Communication via the Internet gives an important ------—-- to international trade.
1) dimenston 2) exposure 3) expenditure 4) distnibution
Lack of childcarc facilities can be a major -———---- for women wishing to work.

i) dispute 2) routine 3) obstacle 4) contraction
Itis a common ———--—- that women are worse drivers than men.

1) essence 2y impetus 3) fallacy 4) amusement
The --——---—-- for using this teaching method is to encourage student confidence.

1) advent 2) rationale 3) authenticity 4) constitution
The degree of punishment should be ----—---— to the seriousness of the crime.

1) inclined 2) receptive 3) prominent 4) proportional
Low inflation is the key to ---—--— economic growth.

1) sustained 2) congruous 3) extravagant 4) well-disposed

11-
12-

13-
14-
15-

PART B: Cloze Test |

Directions: Read the following passage and decide which choice (1), (2), (3), or
(4) best fits each space. Then mark the correct choice on your answer sheet.

l— ey

Commonwealth of Nations is an international organization composed of independent states,
all of which were part of the British Empire. It was constituted by the Statute of Westminster,
(| s—— the British Dominions were recognized as ‘autonomous communities’, (12) ------—-
the British Crown. Smce 1947, when India chose (13) —-——--- within the Commonwealth, it
has consisted of an increasing number of republics, so that the role of the British monarch, who
is the head of only seventeen (14) -------—-- a total of fifty-three member states, 15 confined
(15) ——---mmmm- head of the Commonwealth. Given that its member states have little in common
apart from a historical tie to the UK, it has rarely been able to influence world affairs, except
perhaps for its leadership on the international imposition of sanctions upon South Africa.

1) so 2) which 3) so that 4) in which

1) binding together 2) bound together by

3) together having bound 4) having bound together

1) to remain 2) remaining 3) for remaining 4) to be remained
1) by 2) out of 3) within 4) outside

1) for 2} to who is 3) to that of 4) that she is
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PART C: Reading Comprehension

Directions: Read the following two passages and answer the questions by choosing
the best choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

—_—_——

PASSAGE 1:
In nuclear medicine imaging, radiopharmaceuticals are taken internally, for example
intravenously or orally. Then, external detectors (gamma cameras) capture and form
images from the radiation emitted by the radiopharmaceuticals. This process s unlike
a diagnostic X-ray where external radiation is passed through the body to form an
image. Nuclear medicine imaging may also be referred to as radionuclide imaging.
Nuclear medicine tests differ from most other imaging modalities in that diagnostic
tests primarily show the physiological function of the system being investigated as
opposed to traditional anatomical imaging such as CT or MRIL Nuclear Medicine
imaging studies are generally more organ or tissue specific (e.g.: lungs scan, heart
scan, bone scan, brain scan, etc.) than those in conventional radiology imaging, which
focus on a particular section of the body (e.g.: chest X-ray, abdomen/pelvis CT scan,
head CT scan, etc.). In addition, there are nuclear medicine studies that allow imaging
of the whole body based on certain cellular receplors or functions. Examples are
whole body PET or PET/CT scans, Gallium scans, white blood cell scans, MIBG and
QOctreotide scans.
In some centers, the nuclear medicine scans can be superimposed, using software or
hybrid cameras, on images from modalities such as CT or MRI to highlight the part of
the body in which the radiopharmaceutical is concentrated. This practice is often
referred to as image fusion or co-registration, for example SPECT/CT and PET/CT.
The fusion imaging technigue in nuclear medicine provides information about the
anatomy and function, which would otherwise be unavailable, or would require a
more invasive procedure or surgery. Very often Nuclear Medicine studies can identify
medical problems at an earlier stage than other diagnoestic tests.
Diagnostic tests in nuclear medicine exploit the way that the body handles substances
differently when there is discase or pathology present. The radionuclide introduced
into the body is often chemically bound to a complex that acts characteristically
within the body; this is commonly known as a tracer. In the presence of disease, a
tracer will often be distributed around the body and/or processed differently.

What does the passage mainly discuss?

1) Diagnostic X-ray External Radiation 2) Diagnostic Nuclear Medicine Imaging

3) Certain Cellular Receptors or Functions ~ 4) Certain Methods of Whole Body Imaging
According to the passage, the radioactive medications are taken ---—-—-—- in nuclear
medicine imaging.

1) merely by way of a vein 2) only through the mouth

3) by way of the mouth or a vein 4) neither through the mouth nor a vein

If the author is right, then nuclear medicine imaging -----—--- in diagnosing diseases.

1) uses the external radiation 2) is completely different from X-ray

3) is more or less like external radiation 4) employs the same method as X-ray does

The author explicitly states that CT or MRI primarily -—---—-— of the system being
investigated.

1) reveals imaging modalities 2) shows physiological modalities

3) reveals anatomical imaging 4) shows the physiological function
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Examples such as MIBG and Octreotide scans indicate that ~——---- .

1) white blood cell scans ate possible through nuclear imaging

2) certain nuclear studies make possible imaging of the whole body

3) whole body PET or PET/CT scans are possible using traditional methods

4) nuclear medicine imaging studies arc gencrally mmorc organ or tissue specific

As mentioned in the passage, images from modalities like CT or MR] Are -—-—m---- in some
centers.

1} combined with the nuclcar medicine scans

2) extracted from the nuclear medicine scans

3) highlighted to extract radiopharmaceuticals

4) highlighted to concentrate radiopharmaceuticals

Which of the following is true if the fusion imaging technique in nuclear medicine is not
applied?

1) More invasive procedure or surgery will be required.

2) Medical problems will be identified at an earlier stage.

3) The information about the anatomy and function will easily be accessible.
4) The information about the anatomy and function will never be unavailable.
What does the word “radionuclide” in line 25 refer to?

1) type of atom that is identifiable by radioactivity

2) type of alom that is identifiable by its energy content

3} tracer of any kind introduced into the body to treat an illness

4) tracer of any kind introduced into the body to identify a virus

PASSAGE 2:

For example, the ligand methylene-diphosphonate (MDP) can be preferentially taken
up by bone. By chemically attaching technetium-99m to MDP, radioactivity can be
transported and attached to bone via the hydroxyapatite for imaging. Any increased
physiological function, sueh as due to a fracture in the bone, will usually mean
increased concentration of the tracer. This often results in the appearance of a 'hot-
spot' which is a focal increase in radio-accumulation, or a general increase in radio-
accumulation throughout the physiological system. Some disease processes result in
the exclusion of a tracer, resulting in the appearance of a ‘cold-spot'. Many tracer
complexes have been developed in order to image or treat many different organs,
glands, and physiological processes.

The amount of radiation from diagnostic nuclear medicine procedures is kept within a
safe limit and follows the ALARA (As Low As Reasonably Achievable) principle.
The radiation dose from muclear medicine imaging varies greatly depending on the
type of study. The effective radiation dose can be lower than or compatible to the
annual background radiation dose. It can also be in the range or higher than the
radiation dose from an abdomen/pelvis CT scan: '

Some Nuclear Medicine procedures require special patient preparation, before the
study, to obtain the most accurate result. Pre-imaging preparations may include
dietary preparation or withholding of certain medications. Patients are encouraged to
consult with the Nuclear Medicine department prior to a scan Diagnostic nuclear
medicine imaging == In nuclear medicine imaging, radiopharmaceuticals are taken
intemnally, for example intravenously or orally. Then, external detectors (gamma
cameras) capture and form images from the radiation emitted by the
radiopharmaceuticals. This process is unlike a diagnostic X-ray where external
radiation is passed through the body to form an image. Nuclear medicine imaging
may also be referred to as radionuclide imaging.
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According to the author, radioactivity can --—-—-—--- the hydroxyapatite for imaging by
chemically attaching technetium-99m to MDP.

1) adhere to bone due to 2) ching to bone because of

3) be attached to bone despite 4) be carried to bone by means of

What does “this” in line 5 refer to?

1) the fracture in the bone 2) increased physiotogical function

3} increased concentration of the tracer 4) the general increase in radio-accumulation

Which of the following is NOT mentioned in the passage?

1) Some disease processes result in the exclusion of a tracer.

2) The exclusion of a tracer results in the appearance of a “cold-spot’.

3) Tracer complexes have been developed to image many different organs.

4y MDP increases in radio-accumulation throughout the physiological system.
What does the second paragraph mainly discuss?

1) Radiation Dose 2} Nuclear Medicine

3) Effective Radiation 4y Abdomen/pelvis CT Scan

Why do certain nuclear medicine procedures nced patient preparation?

1) To include dietary preparation. 2} To withhold certain medications.

3) To achieve the most precise result. 4) To take radtopharmaceuticals internafly.

Which statement is NOT truoe about what occurs in nuclear medicine imaging?

1) Gamma cameras form images from the radiation.

2) External radiation is passed through the body.

3) Radiation is emitted by the radiopharmaceuticals.

4) External detectors capture images from the radiation.

It is mentioned in the passage that pre-imaging preparations ~—------- .

1) may include some sort of surgery 2} never restrain taking some medicines
3) always lumit the amount of food eaten 4) may consist of dietary measures
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